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Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4+ du® 1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u% —u?® ... +4u®—1)

(i) Arc colorings

w-(3)

ag =
az =
ag =

ag =

u? —6u’ + 11u® — 6u® + u
u? —5u’ + Tud —2ud +u
—u'® + 1106 — 48u + 105u'? — 12160 + 75u® — 30ub + 8u* —u? + 1
—u'® 4 1006 — 39u!* 4+ 74u'? — T1ut0 4 38u® — 18ub + 4ut — u?
—u? 4+ 2u
u? —3ud +u

wl” — 10u® + 39u!® — 74ul! + 71u? — 38u7 + 18u® — 4ud +u )

a11 = \ —y!9 4 11017 — 48u!® + 105u!3 — 121wt + 75u° — 30u” + 8u® —ud + u
—u +18u 4 - — 1207 + 2u
ae = ud — 1903 + - — 2P +u
w32 — 19030 + ... — 242 + 1
ai2 = \y3? — 18u3° + -+ + 12u® — 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u36 — 84u3* + 788u3? + 4u3! — 4352030 — 72u?° + 15712128 +
568u%7 — 38992126 — 2576u2® + 68272u%* + 7412123 — 85520122 — 14120u2! + 77072u?° +
18120u!? — 49428u'® — 15728u'™ + 2121216 + 9112u'® — 4912u'* — 3220u'? — 12u!? +
432ut 4 28460 4 36u° + 88u® + 52u” — 84uS — 64u’ + 44u* + 20u® — 4u? — du + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 w3 — 110 + -+ 4+ 360u — 41
C2,C3,C7 u39+u38+_._+4u3+1
Cs
C4 wd — B 411204 29
C5,Cg, C10 u39_u38+_”_2u+1
C11,C12
Cy W =5+ 1120 — 95




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y3 —9y38 + ... 4+ 3156y — 1681
C2,C3, C7 Y2 — 4538 4 — 102 — 1
Cs
€4 y*? +11y%° + - - + 5352y — 841
€5, C6, C10 2 +51y38 22— 1
C11,C12
cy y3 +19¢%8 + ... — 71816y — 9025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = 0.841792 4 0.29242471

—15.1182 + 1.50571

—8.40858 4 0.972651

0.841792 — 0.29242471

S
I

—15.1182 — 1.50571

—8.40858 — 0.972651

—0.729257 4- 0.4924691

S
I

—13.7612 + 8.11891

—6.01582 — 6.717361

= —0.729257 — 0.4924691

=
-~
|

—13.7612 — 8.11891

—6.01582 + 6.717361

u= 0.707989 4 0.4700531 —4.12575 — 6.630141 | —5.12153 + 8.457711
u= 0.707989 — 0.4700531 —4.12575 4+ 6.630141] | —5.12153 — 8.457711
u = —0.774155 + 0.2784421 —5.35026 — 0.560121 | —8.31402 — 0.255891
u = —0.774155 — 0.2784427] —5.35026 4+ 0.560121 | —8.31402 4 0.255891
u = —0.668788 4 0.4361441 —0.40953 4 3.916891 0.46864 — 8.358591
u = —0.668788 — 0.4361441 —0.40953 — 3.916891 0.46864 + 8.358591
u= 0.635570 + 0.3408051 —1.13161 — 1.104371 | —2.87714 4 0.84766.1
u= 0.635570 — 0.3408051 —1.13161 4 1.104371 | —2.87714 — 0.84766.1
u = —0.451697 4 0.5064971 —9.02178 4+ 1.761461 | —1.28786 — 3.924791
u = —0.451697 — 0.5064971 —9.02178 — 1.761461 | —1.28786 + 3.924791
u = —0.136161 + 0.5987931 —12.02260 — 4.412111 | —2.43306 + 1.962541
u = —0.136161 — 0.5987931 —12.02260 + 4.412111 | —2.43306 — 1.962541
u = 0.143045 + 0.5483551 —2.49224 4 3.133221 | —1.35770 — 3.512111
u = 0.143045 — 0.5483551 —2.49224 — 3.133221 | —1.35770 4 3.512111
u = 0.394285 4 0.4002551 —0.58188 — 1.381421 | —0.08240 + 6.033631
uw=0.394285 — 0.4002551 —0.58188 4 1.381421 | —0.08240 — 6.033631

u= 1.49254 —4.41211 0

u = 1.49483 + 0.093651 —15.3639 — 3.77981 0

u= 149483 — 0.093651 —15.3639 + 3.77981 0

u = —1.50080 + 0.047831 —6.77867 + 2.736331 0

u = —1.50080 — 0.047831 —6.77867 — 2.736331 0

u = —0.196225 + 0.4491651

0.943197 — 0.763976.1

6.20859 + 2.387161

u = —0.196225 — 0.4491651

0.943197 + 0.7639761

6.20859 — 2.387161

u = —1.59322 + 0.102171 —8.77741 4 2.769661 0
u = —1.59322 — 0.102171 —8.77741 — 2.76966.1 0
u= 159721 + 0.123851 —8.12235 — 5.982931 0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u= 1.59721 — 0.123851 —8.12235 4 5.982931 0
u = —1.60787 4+ 0.135731 —11.9998 + 8.89021 0
u = —1.60787 — 0.135731 —11.9998 — 8.89021 0
u= 1.61669 + 0.080861 —13.52220 — 0.805821 0
u= 1.61669 — 0.080861 —13.52220 4 0.805821 0
u= 1.61512+ 0.143521 17.7470 — 10.50621 0
u= 1.61512 — 0.143521 17.7470 + 10.50621 0
u = —1.63463 + 0.077141 15.8667 — 0.12557 0
u = —1.63463 — 0.077141 15.8667 + 0.12557 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 u® — 11638 4 - 4 360u — 41
C2,C3,Cr u39+u38—‘,—---+4ug+l
Cs
c4 wd? — B8 11120+ 29
Cs5,C6, C10 w21
C11,C12
C9 w3 —5u® . 41120 — 95




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 y*? — 9y*8 + ... 4 3156y — 1681
C2,C3,C7 3 — 453 . — 102 — 1
Cs8
€4 Y3 + 11y + .- + 5352y — 841
€5, C6, C10 30 45138 4 — 22 -1
€11, C12
Co v 19438 +

- — 71816y — 9025




